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Writing and simplifying the mesh equations, we obtain:

40/ - 204, =10 —204 +405 =0
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Solving, we find § =0.3333and £ =0.1667.
Thus, v =20(; -4 )=3.333V.

Writing and simplifying the mesh equations yields:

14, -84 =10

-84 +165 =0

Solving, we find£ = 1.000 and £, = 0.500.

Finally, the power delivered by the source is £ =104 =10 W.



P2.77
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(R +R)i - R~ Rfy =1
~Ri+(R+R +R); ~Rs, =0

Ry -RE+(R+R +R), =0
MNow using MATLAE:
Rl=6,R2=5;R3=4R4=8;R5= 2,
R = [(R2+R4) -R4 -R2: -R4 (R3+R4+D5) -R3; -R2 -R3 (R1+R2:R3)]:
V=[10; 0]
I=R\V,
Reg = 1/I(1) % Gives answer in chms.
Req =
4 /070



P2.80* First, we write a node voltage equation to solve for the open-circurt

voltage:
[L=2:%
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Solving, we find v, = 6.667 V.

Then zeroing the sources, we have this circuit:
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Thus, £ = ],.10—14-155 =3.3330. The Thévenin and Norton equivalents are:
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The equivalent circuit of the battery with the resistance connected is

._gr Re ~7 +
qv " gv}:ooa

r=6/100=006A
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P2.83  First, we solve the network with a short circuit:
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Zeroing the source, we have:
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Combining resistances in series and parallel we find 2 =1210.
Then the Thévenin voltage is v, = [ R =9.6V. The Thévenin and Morton

equivalents are:
R=120

Wy—0 ©

Vg6V [ =0EA CT) R=120




P2.94* First, we zero the current source and find the current due to the voltage

SOUrCe.
o
l"“ﬁﬁl’ J.L > r

£ =3015=2A

Then, we zero the voltage source and use the current-division principle to
find the current due to the current source.
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Finally, the total current is the sum of the contributions from each
SOUPCE.
i=L+i=4A

P2.97  The circuits with only one source active at a time are:
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fm=4xm f]_z.n=_2xm
~3A --15

Finally, we add the components fo find the current with both sources
active.
K =1hanthaa=1DA



